Application
Systems

Optics &

Optical
Coatings

Holders

Manual
Stages

Actuators

Motoeized
Stages

Light
Sources

Index

Guide

Vibration
Isolation Systems
Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts

Brackets
Adapters

Tools

D052

Z Angle Brackets | zBR

Bracket for mounting an X-axis stage at right angles to the mounting surface.

® An X-axis stage can be mounted to a vertical surface or
used as a Z-axis stage by mounting the bracket to a
horizontal surface.

® If the X-axis stage is mounted vertically, attach the stage
such that the micrometer head is on the underside.

® The TSD-SZ series Z-axis stages for vertical face instal-
lation allow installation with the micrometer head on the

topside.
[l Attention
P The finish will be coarse since it is casting, but poses no technical
problems.
2D||8SD
CAD||CAD
Outline Drawing
ZBR-2530 ZBR-4055/4055UU ZBR-7050/7090
Pan head screw M2x8...2 screws, E Pan head screw M3x10....2 screws, Flat washer (4055) H Hexagonal socket head cap screw M4x12...4 screws
Flat washer Hexagonal socket head cap screw 6-32UNCx3/8...2 screws (4055UU) (common to 2 types)
4B 3-C 4-M4 through hole 50 4945 ol
“trough hole ihrough hole - o trough hole
[o °
4-M2 through hole
4[ Q o n(/ I
3 © 10}
2 o
8 ® o o | < s
i+ " o it iid A
[ a ]| D -
A 2:C _ 50 4-¢4.5 15| 25
40 mounting hole | 15 70 mounting hole 45
A C D A B
Part Number (mm) B (mm) (mm) Part Number (mm) (mm)
ZBR-4055 32 M3 ¢3.5 11 ZBR-7050 50 80
ZBR-4055UU 31.75 | 6-32UNC P4 10.875 ZBR-7090 90 120

ZBR-8060 E Hexagonal socket head cap screw M4x12...4 screws ZBR-100100 E Hexagonal socket head cap screw M4x12...4 screws

90

4-M4 through hol
rough hole 50 8
4-¢4.5
o through hole
. \
8 o o 1+
4-M4 through hole 50 4-045
through hole ol o
ry | D v hd
\} o o L+
Qq,e / ° o g
oa o (). X
o 10
N g " 8
¢ o o o — 4-M4 depth 8
F: o © -+
wf
50 15| 25
'—J 4-¢4.5 -—--—-J

w*
50 15| 25
4-94.5

100 mounting hole 50

80 mounting hole 49

Primary material: Aluminum (except ZBR-2530)

Example of Combinations | Finish: Black Anodized

Specifications

Part Number

TSD-601S + ZBR-7050 ZBR-100100 0.58

* For ZBR-2530, primary material is brass, and finish is black coating.




W6056

2D
CAD

8D
CAD

Outline Drawing

ZBR-7550EE

B Hexagonal socket head cap screw M6x12...4 screws

ZBR-7590EE

50
25 8-M6 P1 -
through hole
o cL ) d‘) d v
3 3[ @] (D’ w
oo | g
o O o8
I 1/
LL—J\ 47

H Hexagonal socket head cap screw M6x12...4 screws

66 11
50 4-M6 s
4-97 T T
o © ¢
o) oif 8
o © Q
o
8
:" 4.\'
t
15| 25
o7 48
ZBR-14080EE
H Hexagonal socket head cap screw M6x12...4 screws
100 4-M6 P1
4-M6 50 through hole  —=~=
-©- 4-¢7
8 8 o
g
©-
8
© © O

15| 25.4 '

55

ZBR-7550UU
B Hexagonal socket head cap screw 1/4-20UNCx1/2...4 screws

50.8
4-1/4-20UNC 254 8-1/4-20UNC 7
through hole T
INEERK
¢ 4-¢7
3% o @ o .
o T o | &
o o o3
\ """""""""" . . Tz
50.8 \ 497 15| 25.4
75 48
ZBR-7590UU
ﬂ Hexagonal socket head cap screw 1/4-20UNCx1/2...4 screws
66
50.8 11
25.4 8-1/4-20UNC 7
4-97
N ege i ]
1]
<[ @
SR IFE
oo
o © ©o -
N
8 &
50.8 N .
so7 15| 25.4
75 48
ZBR-14080UU

H Hexagonal socket head cap screw 1/4-20UNCx1/2...4 screws

101.6

4-1/4-20UNC
50.8 through hole  —=~=
o ) &
Q O 4-¢7
23 o)t .
<

o e} ©
I AT

101.6 \

140 4-¢7

Primary material: Aluminum
Finish: Black Anodized

Specifications

Part Number V‘/[?(i;ht
ZBR-7550EE 0.2

ZBR-755000 | 02
ZBR-7590EE 0.6

'ZBR-759000 | o6
ZBR-14080EE 0.3

ZBR-1408000 | s

WEB http://www.sigma-koki.com/english/ E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550

Application
Systems

Optics &
Optical
Coatings

Holders

Manual
Stages

Actuators

Motoeized
Stages

Light
Sources

Index

Guide

Vibration
Isolation Systems
Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts

Brackets
Adapters

Tools

D053




Application
Systems

Optics &

Optical
Coatings

Holders

Manual
Stages

Actuators

Motoeized
Stages

Light
Sources

Index

Guide

Vibration
Isolation Systems
Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts

Brackets
Adapters

Tools

D054

B8 W6057

L Angle Brackets | LBR

Attach an L bracket to the vertical face of the Z-axis, XZ-axis, or XYZ-axis stage to provide a hori-
zontal mounting surface.

[l Attention

P These brackets may cause insufficient travel distance or physical
interference of stages, depending on installation conditions.
Confirm the dimensions before purchase.

2D||3D
CAD||CAD
Outline Drawing
LBR-2535 LBR-3440 LBR-4053
E Pan head screw M2x8...4 screws E Pan head screw M3x6...4 screws E Pan head screw M3x8...4 screws
as 30 56
16_ 16_16_ | 4
18 6-M3 ™
’J—Qxlo-}l%ﬁ MI6P1 through hole
through hole 6 o
8-M2 T
depth 5 /¢ o ml \t) S S) ol @
— IR ® o I
6/ o o e
M6 P1 ¢ /¢ ¢
through hole 22.5
m:SuPL ol 36 2-M3 depth 4
! gh hole
4-¢2.5 4-¢3.4 mounting hole 2 1035
20 mounting hole 24 $6.5 counterbore -3.
[‘—‘ mounting hole
} i . | | 9
o SN S o o | ] of | l{
of & gI 2 &3
N to- | <o Lf!
o & 8
_lls m.‘
i o 1.7 . lo 5]
5 5 <
LBR-6075/6085 LBR-6080/6092
E Hexagonal socket headcap screw M4x12...4 screws ﬂ Hexagonal socket headcap screw M4x12...4 screws
84 T 84 T
10-M4 depth 8 25 25 25 _ |4 Part Number (mAm) 10-M4 depth 8 25 25 25 _.| 4 Part Number (nfm)
LBR-6075 75 LBR-6080 80
©° o 3 ) ° ° - 1 -
”’T LBR-6085 85 0! LBR-6092 98
I —_— Y —_—
s O 8 o) 3
['e} w0
N N
s o © ° -/ o o &l
M16 P1 54 M16 P1 54
through hole . 4-045 through hole 2 4_¢4_§
mounting hole ﬁ mounting hole
a ﬁ
@ 1l & A ©
g~ ° <
&
B
8 ® ol—] o 6
8 0 ©

Specifications e

Part Number V\I[i'g]ht

LBR-2535 0.02
'LBR-3440 | 003
"LBR-4053 | 005
"LBR-6O75 | 018
LBR-6OSO | ot
‘LBR-6OBS | 019
"LBR6092 | 021




Adapter Plate Selection Guide |

A variety of adapter plates are available to make it easier to combine stages that do not have
matching mounting holes.

Application
® The following table can be used to determine the appropriate adapter for combining stages with hole patterns selected Systems
from the left column and the top row.
Optics &
l Guide Optical
Coatings
P Custom shapes or sizes not listed in the catalog can be purchased.
P Send us rough illustration by FAX or mail, or contact our Interna-
tional Sales Division. Holders
M Bases
Manual
Stages
Actuators
Motoeized
Stages
Light
H A Sources
H Selection List l
Index
Mounting hole pattern and screw shape of products to be mounted on upper surface
M16 | [pom2 | [132M3 | [40Mm3 | [Jsom4 |PC-D-50M4| 70m4 | [Jooma | [I100M4 intem'zl'?mad
fastsef‘ﬁ‘g;%’sts Fasten 25x25 | Fasten 40x40 | Fasten 50x50 | Fasten 60x60 Fass'fa"gg:“e[‘f“w Faston 80x80 | Faston 100x100 | Fasten 120120 [ 7 1 HAEE Guld
post holders, ett;. stages, etc. stages, etc. stages, etc. stages, etc. (KSP-786 etc) stages, etc. stages, etc. stages, etc. S e posts: uide
5 [132M3 1Soration Systems
kel 40x40 stage, etc. SP-132 SP-132 SP-132 SP-132 SP-132
S £ .
8 o upper surface screw pattern 0ptlca| Tables
AE: :ﬁ;gﬁi?ﬂi SP-129 | SP-120 | oo | SP-120 | SP-t20 | o . Darkrgoms/
g B |uprer sirate s patior|  SP-132 SP-132 SP-132 SP-132
D
& § Ll50m4 SP-117 SP-117 Optical Bases
ElEe] 60x60 stage, etc. SP-133 SP-133 SP-133 SP-102-1 | SP-102-2 | SP-102-3 | SP-122
=L ge, SP-133 SP-133
o, @ |upper surface screw pattern Posts
w
el
3 P.C.D.50M4 SP-103 | SP-103 SP-103
o
Q $60 rotary stage, etc. SP-129 SP-129 Brackets
5 upper slj?faoe scarg:/ pattern SP-129 SP-129 SP-129
g MB-CB-CB SP-130 SP-130 SP-130 SP-130 SP-130 SP-130 Adapters
o .
g PC.D.30M3 | gp_129 i gg SP-123 SP-129 SP-120 | oo Tools
40 rotary stage, etc. _ - _ _ _ N
5 _(é: uor e s | SP-182 ap-132 SP-129 SP-132 SP-132
=1
3|5 TAR.agres | SP108-1
S |Z| taR.agp | SP109-2 SP-131 SP-131 SP-131 SP-131
c|® SP-131
22
[0
o |% | TAR-34403L
w 7 TAR-34805L SP-131 SP-131 SP-131 SP-131 SP-131
3
) g . SP-127-1 | SP-127-1 g . g g
o TAS-2060 aP-134 SP-134 SP-134 SP-134 SP-134 SP-134

Example of Combinations |

Lens holder LHF-25 X axis stage TSD-601S

Adapter plater SP-129, 4
Y

Adapter plate SP-122 6 axis rotation stage KSP-GDGM/

WEB http://www.sigma-koki.com/english/ E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550 D055




Application
Systems

Optics &

Optical
Coatings

Holders

Manual
Stages

Actuators

Motoeized
Stages

Light
Sources

Index

Guide

Vibration
Isolation Systems
Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts

Brackets
Adapters

Tools

D056

Adapters |

SP

50x50mm Adapter Plates | SP-102

® Mounting hole converting adapter for

stages.

Outline Drawing

B8 W6058

Connection Example

80x80 stage (M4 70x70)

v

SP-102-1

v

M4 50x50

100x100 stage (M4 90x90)

v

SP-102-2

v

M4 50x50

2D||SD
sP-102
E Hexagonal socket head screw M4x6...4 screws
(common to 3 types)
A
B
50 4-M4 through hole
(o ]
© ©
3| of <
©
o Q
4-¢ 4.5 mounting hole
¢ 8 counterbore
[ N
Part Number W[?('g]ht o
Part Number A (mm) B (mm)
Ssp1021 | 012 SP-102-1 80 70
| Skl | o’ sP-102-2 100 9
SP-102-3 0.27 SP-102-3 120 100

120x120 stage (M4 100x100)

v

SP-102-3

v

M4 50x50

p Plates for KSP/KSPA | SP-103

Outline Drawing
20|28
sp-109

E Hexagonal socket head cap screw
M4x6...4 screws

@® Mounting hole-converting adapter for 6
axis rotation stages.

60
50

4-M4 through hole

Primary material: Aluminum
il d

Finish: Black An
Part Number V\l[?(;g]ht
SP-103 0.06

B8 W6059

Connection Example

25x25 stage (M2 20x20)

40x40 stage (M3 32x32)

60x60 stage (M4 50x50)

v

SP-103

v

KSP/KSPA (M4 ¢50)

Bottom Plates for KSP-786M | SP-104

Outline Drawing
sp-104

E Hexagonal socket head cap screw
M4x6...4 screws

® Mounting hole converting adapter for 6
axis rotation stages (KSP-786M).

60
50

2

T

8-¢4.5 mounting hole

4-M3 through hole
PCDp42

. .0

16,

Primary material: Aluminum
el d

Finish: Black An

Part Number W[?(;g]ht
SP-104 0.06

B8 W6060

Connection Example

KSP-786M

|

v

SP-104

v

MB-CB-PB

60x60 stage (M4 50x50)




Top Plates for TAR | SP-109
|

® Mounting hole converting
adapter designed specifically
for rack and pinion stages.

Conversion Plate | SP-113N

@1t is a spacer that is possible to set up the

Conversion Plate | SP-114N

@ |t is a spacer that is possible to set up the
pole (PO) of M16 screw to the [ 140 stage

Bottom Plates for KSPA 806M, 1006M | SP-117

® Mounting hole converting
adapter for 6 axis rotation
stages (KSPA-806M and
1006MH).

M16 P1 through hole,

sP-108-1/2
E Hexagon socket head cap screw
M4x6...4 screws
40
@ D of %
o7 of "

4-¢ 4.5 mounting hole
$8 counterbore

(L[t

o~
Part Number A (mm)
SP-109-1 60
SP-109-2 80

B8 W6061

Connection Example |

[ Post holder etc. (M16 P1) | [ Post holder etc. (M16 P1) |
v v

| SP-109-1 || SP-109-2 |
v v
TAR-34601 TAR-34801
TAR-38601D TAR-34141
TAR-34602 TAR-38801D
TAR-38141D
TAR-34802

Specifications

Primary material: Aluminum
Finish: Black Anodized

Weight
Part Number kol
Bl 008 .
SP-109-2 0.04

pole (PO) of M16 screw on []40 stage.

@ |t can also be used to attach the tilt stage.
(AIS-40B), sample holder (SHA-40), and

polarizer holder (MPH-B) to the [ ] 40
stage.

Primary material: Aluminum

Finish: Black Anodized

Weight
Part Number Tkl
SP-113N 0.02

B8 \W6086

Outline Drawing

E Hexagon socket head cap screw
M3x6...4 screws
7

40

8-M2 through hole

4-¢3.5 mounting hole 2

and []40 rotation stage.
@ |t can also be used to attach the [ 140

stage, sample holder (SHA-25) and polar-
izer holder (MPH-B) to the rotation stage

(KSP-406, KSW-406).

Primary material: Aluminum

Finish: Black Anodized

Weight
Part Number kol
SP-114N 0.02

SP-117

E Hexagonal socket head cap screw
M4x6...4 screws

2D|(3SD
CAD||CAD

4-M4 through hole

4-¢ 4.5 mounting hole
¢ 8 counterbore

through hole
(AR N ~

o

Catal
W6087
SP-114N v |5
Hexagon socket head cap screw
40
32 8-M2 through hole

Outline Drawing
M3x6...4 screws
1010, | 4-M3 through hole

32
30
. .
(€
10110
32
40
Tﬁr

30 M16 P1 through hole
32

B8 W6063

| Connection Example |

Post holder etc. (M16 P1)
KSPA-806M, 1006MH
v
| SP-117 |
v
[ M4 50x50 |

Primary material: Aluminum

Specifications Finish: Black Anodized
Part Number V\I[f&ht
SP-117 0.06

WEB http://www.sigma-koki.com/english/ E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550

Application
Systems

Optics &
Optical
Coatings

Holders

Manual
Stages

Actuators

Motoeized
Stages

Light
Sources

Index

Guide

Vibration
Isolation Systems
Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts

Brackets
Adapters

Tools

D057




Application
Systems

Optics &

Optical
Coatings

Holders

Manual
Stages

Actuators

Motoeized
Stages

Light
Sources

Index

Guide

Vibration
Isolation Systems
Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts

Brackets
Adapters

Tools

D058

Adapters | SP

M16 P1/M6 P1 Adapter Nuts | SP-121 BB W6065

® Mounting adapter for post systems. | Connection Example |
Outline Drawing [Main frame of holder tc. (M6 P1 female)| [ Post (M6 P1 (male)) |

v v

SP-121-1 SP-121-2 | SP-121-1 | | SP-121-2 |
v v
@ ﬁ [ M16 P1 || M16 P1 |

M6 P1

$26 through hole Primary material: Brass

= Finish: Chrome

M6 P1
4-¢3 depth 5 TT $20
Every 90° il o

ERES .\E[ @ [+~

)| )
SP-121-2 M16 P1 M16 P1

M16 P1/M6 P1 Adapter Nuts | SP-121S BRW6066

® Mounting adapter for post systems. | Connection Example |

. Outline Drawing [ Post holder etc. (M16 P1 (male)) ]
v
SP-121S | SP-121S |

v
Upper surface [ Baseplate / optical breadboard etc. (M6 P1 (female))]

M16 P1 depth 5
$30 e - Primary material: Aluminum
Specifications Finish: Black Anodized
4-¢4 depth 5 Part Number V\I[i'g]ht

Every 90° b

Under surface M6 P1 SP-1218 0.01

M6P1 Adapter Plates | SP-122 BB We6067

® Mounting adapter for holders.
@ Adapter to secure a holder with M6 P1 internal thread from below and install on a stage with M4 50x50mm pitch mounting holes.
@ Suitable for setting the optical axis low.

Outline Drawing | Connection Example |
SP-122 [ Ve 1 e ]

E Hexagonal socket head cap screw Méx10...4 screws
Hexagon socket head cap screw M6x12...1 screw | SP-122 |

60
v
i - [ M4 50x50 |

®

l Attention

Primary material: Aluminum
Finish: Black Anodized

Specifications

mounting hole

) ; 25
P Note that holders with protrusions m ¢8 counterbore Weight
within the $25 mounting surface may 1 R (Y [kg]
not be able to be connected. = SP-122 0.1

Top Plates for KSP-406M | SP-123 BB W6068
@ Mounting hole converting | Connection Example |

adapter for 6 axis rotation

stages (KSP-406M). SP-123 Sl 25x25 stage (M2 20x20)
H Countersunk screw M3x8...4 screws 40x40 stage (M3 32x32)
40 v
[—%—‘ 4-M3 through hole SP'J 23 |
¢ o L 4 KSP-406M
¢ ol ol © KSP-406MR
Q Q SURVI
o]
of @' PP Primary material: Aluminum
4-M2 4-¢ 3.5 mounting hole ¢6 countersink SpeCIflcatlons Finishl:’yBIack Anodized
through hole PCD¢ 30 i
Part Number gk
A - [kg]
ol e SP-123 0.02




Top Plate Adapters for TAS-2060 | SP-127-1
® Mounting hole converting

adapter for X- and XY-axis

leadscrew stages (TAS-20601 SP-127-1

and 20602) H Hexagonal socket head cap screw
M4x6...4 screws

60
50
T’}
gy
©
of - Lo 88
4-¢4.5 mounting hole, 4-M2 through hole
¢8 counterbore M16 P1 through hole

S N N W—

W6069

Connection Example |

Post holder etc. (M16 P1) |

25x25 stage (M2 20x20) |

v
SP-127-1 |
v

TAS-20601 |

TAS-20602 |

Primary material: Aluminum

Specifications Finish: Black Anodized
Weight

Part Number kgl

SP-127-1 0.04

Adapter Plates | SP-129

® Mounting hole-converting Outline Drawing

adapter for 6 axis rotation

stages. SP-129

H Hexagon socket head cap screw
M3x6...4 screws

60
50
4-M2 through hole 40 8-M3 through hole
- gg = 4-M4 through hole
|
M6 P1 through hole | © @

.
gy,]g ) a@ﬁa{%]s% g o
+
L o =
o °
30 4-94.5 mounting hole
.82 _| “$8counterbore

BB W6071

Connection Example |

Post holder etc. (M16 P1)

25x25 stage (M2 20x20)

40x40 stage (M3 32x32)

60x60 stage (M4 50x50)

v

SP-129

v

KSP-406 (M3 $30)

40x40 stage (M3 ¢32)

60x60 stage (M4 ¢50)

Primary material: Aluminum

Specifications Finish: Black Anodized
Weight

Part Number k]

SP-129 0.06

Adapter Plates | SP-130
® Mounting hole converting

adapter for magnet bases (MB-

CB-PB). SP-130

B Hexagonal socket head cap screw
M4x6...4 screws

8-M4 through hole

D)ot g498
.
LLJ 4-¢4.5 mounting hole

¢ 8 counterbore

8-M3 through hole
4-M2 through hole

60

M16 P1 through hole

W6072

Connection Example |

Post holder etc. (M16 P1)

25x25 stage (M2 20x20)

40x40 stage (M3 32x32)

60x60 stage (M4 50x50)

v

SP-130 |

v

MB-PB-CB ]

Part Number

Specifications

Primary material: Aluminum
Finish: Black Anodized

Weight
[kal

SP-130

0.06

Adapter Plates | SP-131
® Mounting hole converting Outline Drawing
adapter designed specifically
for rack and pinion stages. SP-131

E Hexagonal socket head cap screw
M4x6...4 screws
Hexagon socket head cap screw M3x6...4 screws
60

40 8-M4 through hole
32 M16P1 through hole
8-M3 through hole
— ¢ 3
O T Oy

40
50
60

40
ﬁ
[o]
o
o
N

o @<>@K°°¢EI

4-¢3.5 mounting hole, L&J 4-$4.5 mounting hole
6 counterbore 24 $8 counterbore

EAW6073

Connection Example |

Post holder etc. (M16 P1)

40x40 stage (M3 32x32)

60x60 stage (M4 50x50)

v
SP-131 |

v

TAR-34403L (M3 14x24) ]

TAR-34/38 (M4 20x40) ]

Specifications

Primary material: Aluminum
Finish: Black Anodized

Weight
Part Number kg
SP-131 0.06

WEB http://www.sigma-koki.com/english/ E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550

Application
Systems

Optics &
Optical
Coatings

Holders

Manual
Stages

Actuators

Motoeized
Stages

Light
Sources

Index

Guide

Vibration
Isolation Systems
Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts

Brackets
Adapters

Tools

D059




Application
Systems

Optics &

Optical
Coatings

Holders

Manual
Stages

Actuators

Motoeized
Stages

Light
Sources

Index

Guide

Vibration
Isolation Systems
Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts

Brackets
Adapters

Tools

D060

Adapters | SP

Adapter Plates | SP-132

® Mounting hole converting
adapter for stages.

Adapter Plates | SP-133

® Mounting hole converting
adapter for stages.

Adapter Plates | SP-134

® Mounting hole converting adapter
for X- and XY-axis leadscrew
stages (TAS-20601 and 20602).

Conversion Plate | SP-135

Outline Drawing

BB W6074

Connection Example |

SP-132 Post holder etc. (M16 P1)
Hexagon socket head cap screw CAD[[cAD 25x25 stage (M2 20x20)
H M3x69..4 screws P 50x50 stage (M3 40x40)
60x60 stage (M4 50x50)
4-M2 v
through hole 4-M3 through hole | SP-132 |
4935 8-Md through hole v
mounting hole l KSP-406 (M3 ¢30) ]
96 counterbore. [ 40x40 stage (M3 32x32) |
83 jls]e 28 o Specifications e e
Weight
Y Part Number
lkdl
M16P1 through hole SP-132 0.06

Outline Drawing
sp-133

B Hexagonal socket head cap screw
M4x6...4 screws 50

8-M3 through hole_{
4-M2 through hole

BB W6075

Connection Example |

Post holder etc. (M16 P1)

25x25 stage (M2 20x20)

40x40 stage (M3 32x32)

KSPA-806M/1006MH (M4 ¢50)

v
[ SP-133 |

v

[ 60x60 stage (M4 50x50) |

Specifications

Primary material: Aluminum
Finish: Black Anodized

M16 P1 through hole | ° Weight
\d I - Part Number €9
N gt kg
4-M4 \ 4-¢ 4.5 mounting hole
68 counterbore SP-133 0.06

Outline Drawing

BB W6076

Connection Example |

SP-134 c%@g ?A@D Post holder etc. (M16 P1)
H Hexagonal socket head cap screw 25x25 stage (M2 20x20)
Mdx6- -4 screws 40x40 stage (M3 32x32)
25 25 60x60 stage (M4 50x50)
40 v
32 8-Md through hole | SP-134 |
8-M3 through hole _20 [ v ]
(o] TAS-20601
S n [ TAS-20602 |
Y o Sle”
o =] agr - Primary material: Aluminum
“ ST o 4 Specifications Finish: Black Anodized
(3 o "
> @00\ % Part Number V\I[?g]ht
4-94.5 mounting hols/ [13|  \Mi6P through hole
$8 counterbore SP-134 0.06

@It is a spacer for mounting the very small
stage of X-axis block stage (TASB-15 *)
and X-axis leadscrew stage (TAS-15 *) to
[ 25 stage.

@t can also be attached ultra-compact
goniometer stage (GOH-15), tilt stage
(AIS-25B), sample holder (SHA-25) and
polarizer holder (MPH-B).

Primary material: Aluminum

Finish: Black Anodized

Weight
Part Number kal
SP-135 0.01

B8 We6088

Outline Drawing
2D||sD
sP-135

E Pan head screw M2x4...4 screws
20_ 8-M2 through hole

4-¢2.4 mounting hole
¢4 counterbore

iz.o l
| ©] o
ol P«
IS

M6 P1 through hole /| /5/9)




Conversion Plate | SP-201

@ |t is a spacer for mounting the X-axis long
steel stage (TSD-25501S) to the [ | 40
stage.

@ |t can also be fixed to ¢40 rotation stage
(KSP-406, KSPT-406) and used for XY
assembly of TSD-25501 series.

ag = Primary material: Aluminum
Specifications Finish: Black Anodized
Weight
Part Number
Y k]
SP-201 0.03

B8 W6089

Outline Drawing
SP-201 CAD||CAD

E Hexagon socket head cap screw M2x4...4 screws
Hexagon socket head cap screw M3x6...4 screws

50

32 7
4-2.4 mounting hole 20 4-93.5 mounting hole . 2
¢4 counterbore $6 counterbore

04
>

o+ Bl
| Sl o “ﬁ"
& 49{(":? r

"
©
©

Conversion Plate | SP-301

@ |t is a spacer for mounting the X-axis long
steel stage (TSD-40801S) to [ 160 and []
40 stage.

@ |t can also be fixed to ¢60 rotation stage
(KSP-606, KSPT-606) and ¢40 rotation
stage (KSP-406, KSPT-406).

® |t can also be used for XY assembly of
TSD-40801 series

ags - Primary material: Aluminum
Specifications Finish: Black Anodized
Weight
Part Number
[kg]
SP-301 0.08

B8 W6090

Outline Drawing
CAD||CAD

SP-301
E Hexagon socket head cap screw M3x6...4 screws
Hexagon socket head cap screw M4x6...4 screws
25 25 4-¢3.5 mounting hole 7
8-¢4.5 mounting hole 16 | 16 6 counterbore
$8 counterbore 4-M3 through hole
+—0-0 4 9 )
g8s | 00 00 | o
el
0 o «
30
32
64
80

WEB http://www.sigma-koki.com/english/ E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550

Application
Systems

Optics &
Optical
Coatings

Holders

Manual
Stages

Actuators

Motoeized
Stages

Light
Sources

Index

Vibration
Isolation Systems

Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets
Adapters

Tools

D061




Application
Systems

Optics &

Optical
Coatings

Holders

Manual
Stages

Actuators

Motoeized
Stages

Light
Sources

Index

Guide

Vibration
Isolation Systems
Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts

Brackets
Adapters

Tools

D062

Adapters | BSP

Baseplate | BSP-1016N BB W6091

@ |t is a base plate for fixing the X-axis long stage (TSD-10161, TSD-60121, TSD-60161SDM, TAM-10161, TAM-
60161SDM, etc.) to the breadboard (OBC-M®6) and the optical surface plate (HOA, etc.). It can also be used for XY
assembling.

@[t can also be fixed to the [ ]100 stage (TSD-100, TAM-100, etc.) and the base plate (OBC-M4).

- a Primary material: Aluminum
Specifications Finish: Black Anodized
Part Number V\I[?(ig]ht

BSP-1016N 0.4

Outline Drawing
BSP-1016N

B Hexagon socket head cap screw M4x10...4 screws
Hexagon socket head cap screw M6x10...4 screws
6-¢7 mounting hole
@11 counterbore
12-¢4.5 mounting hole 100 10

$8 counterbore 25 25 8-M4 through hole L]
@N B

{
Oj“’.
Q 5
'8_8%[@0.%@ "
s ® © 6l¢ b

, © o
150

160

Baseplate | BSP-1020N B8 W6092

® |t is a base plate for fixing the X-axis long aluminum cross roller stage (TAM-10201SDM, TAMC-10201) to the breadboard
(OBC-M6) and the optical table (HOA, etc.). It can also be used for XY assembling.

@ |t can also be used for fixing the [] 100 stage (TSD-100, TAM-100, etc.).

@ Also, it can be fixed to the [[] 100 stage (TSD-100, TAM-100, etc.) and the base plate (OBC-M4).

e a Primary material: Aluminum
Specifications Finish: Black Anodized
Part Number W[i'g]ht

BSP-1020N 0.5

Outline Drawing
BSP-1020N

H Hexagon socket head cap screw M4x10...4 screws
Hexagon socket head cap screw M6x10...4 screws
8-¢7 mounting hole

150 $11 counterbore
10

8-¢4.5 mounting hole 125

$8 counterbore 25_ 25 8-M4 through hole H 3

M

100
90




Screw Set SCR/ SKB / SKD / DK
Adapter Nuts | AND

SCR / SKB / SKD / DK B3 We077

A set of screws frequently used to install SIGMA KOKI products.
Use for maintenance together with tools.

b s

‘s

SCR-MEC SKB-JBX6 SKD-190

Black Pan-head Screw Sets / Stainless Steel Cap Screw Sets

Part Number Type Sé:irze ew 4 s 10 Le1nzgth (mml 20 25 30 Quantity v%g;iﬁgr Flat:\igzher
SCR-MEN2 M2 (@] O O O O - - 30 pieces each 240 pieces 240 pieces
(SCR-MEN3 | pigipanhead M3 C O C C O O O O - - Opiecescach 240pieces 240pleces
SCR-MEN4 screw M4 - O O O O O O — 30pieceseach 240pieces 240 pieces
SCR-MEN6 M6 - - O O O O O O O O 20pieceseach 160pieces 160 pieces
SCR-MEC3 M3 o O O ®) o O ©) ®) - - 30 pieces each 240 pieces 240 pieces

SUS cap screw
SCR-MEC6 M6 o O O 160 pieces 160 pieces

Ball Wrench Set

Part Number Wrench Size Part Number Size

SKB-JBX6 15,2,25,8,4,5 | SKD-190-0-60 #0 7
SKD-190-1-80 #1
SKD-190-2-75 #2

Chronometer Driver Set

Part Number Size

DK-20 #0000, #000, #00, #0, #1 (two drivers)

lAND £ 6078

Adapter nuts for changing M6 tapped holes to M4 holes.

Outline Drawing

! AND-M6-M4 cAD cAn
i l\ M6 P1
Il Attention Specifications
P The 8mm-diameter area protrudes for 1mm when mounted on a Quantity Weight
flat surface. R N7 [Pieces] [kg]
P This product is delivered only by mail. AND-M6-M4 10 0.011

WEB http://www.sigma-koki.com/english/ E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550

Application
Systems

Optics &
Optical
Coatings

Holders

Manual
Stages

Actuators

Motoeized
Stages

Light
Sources

Index

Guide

Vibration
Isolation Systems
Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts

Brackets
Adapters

Tools

D063







